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o Please check that this question paper contains 19 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 23 questions.
o Please write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer
on the answer-book during this period.
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Wﬁé‘ﬂ:
(i) WFRT-FTdATITIATFE - & @ AT
(i) 97T F T o % o AHad 7
(iii)  OLIEG F1 9T 9T G H T F G FF U T §F FATE |
(iv) &S 399 & g9 9y & 3 % & WE | e |

General Instructions :

(i)  This question paper contains three parts A, B and C.
(it) Part A is compulsory for all candidates.

(iii) Candidates can attempt only one part of the remaining parts
B and C.

(iv) All parts of the questions should be attempted at one place.

T &®
(TENVHT TSI, WEEHT wHl q97 HWal & o SEie)
PART A

(Accounting for Not-for-Profit Organisations, Partnership Firms
and Companies)

1. ‘ST F ¥ & MR W I< a9 f6vw-gw § 3R sany | 1
Distinguish between ‘Subscriptions’ and ‘Specific Donations’ from the
point of view of ‘Nature of Income’.

2. It ©F FvEL T9 § YA% AR & 159 fod Us fafymd U & e dar g, @
T F FA Y W AN & IRGaq gq 1 @y g 2 1

If a fixed amount is withdrawn on 157 day of every month of a
calendar year, for what period will the interest on total amount
withdrawn be calculated ?

3. UF ¢ UERR T I YOU & 999 TG & O SREH e % SR # Iwd
FIFT | 1
State the reason of contributing for goodwill by a new partner at the time
of his admission.
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4. YEEA 99 9RRN B % fOued ¥ o W ek uw fag I 1

Give any one point of distinction between dissolution of partnership
and dissolution of partnership firm.

5. ‘Hfy-stfie & 1 Hd g 7 ? 1

What is meant by ‘Over-Subscription’ ?

6. frfafed ¥om ¥ 31.3.2011 & ¥9@ T a8 & faw == & U & T
FIT |

a9 ¥y 9= : T 2,85,000.

31.3.2011 # 3/ == : ¥ 9,000.

31.3.2011 & &M ¥r@@ == : T 7,000.

1.4.2010 =l 3w == : T 12,000.

1.4.2010 & W 1 == : ¥ 8,000 3
Calculate the amount of subscriptions for the year ended 31.3.2011
from the following information :

Subscriptions received during the year : ¥ 2,85,000.

Subscriptions outstanding as on 31.3.2011 : ¥ 9,000.

Subscriptions received in advance as on 31.3.2011 : ¥ 7,000.

Subscriptions outstanding as on 1.4.2010 : ¥ 12,000.

Subscriptions received in advance as on 1.4.2010 : ¥ 8,000.

7. W fa. 3 a8 fa. ¥ 25,00,000 FF 99T F w9 A | 33w H 50% TEE
€. fa. 30 fo@ U uw faftrm o @ SR 7@ 5 T S 99 9 v 3
| T TR H PAE T 10 TIF & guar 99, R 25% & ey | frifa
foar e &1, & g/ T
I el & fAu e, A, & el # sevas I g S | 3

X Ltd. purchased machinery for ¥ 5,00,000 from Y Ltd. Half of the
amount was paid by accepting a Bill of Exchange drawn by Y Ltd.
payable after three months. The balance was paid by issue of Equity
Shares of ¥ 10 each at a premium of 25%.

Pass necessary Journal Entries in the books of X Ltd. for these

transactions.
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8. fosm =&l f&. 3 T 100 ¥&@% & 10,000, 12% FurwE, = % 70 9fa =0
Wifrew R frffaa & a1, & fau smeeq smfen fee | of of &1 em e
W FE 97 |
13,500 FUTE & AU sTeRA W gT | 3,500 FUTHEN % fAU SEEA @ T
fear a1 qur e Uy @ftg S & T | WY ETH HOREUGE H 3MEET T
faar man |
fasrr wealt fa. & s # S dAeA & faU EvEs UsHmeEr g e - 3

Vijay Laxmi Ltd. invited applications for issuing 10,000, 12%

Debentures of ¥ 100 each at a premium of ¥ 70 per Debenture. The

full amount was payable on application.

Applications were received for 13,500 Debentures. Applications for
3,500 Debentures were rejected and application money was refunded.
Debentures were allotted to the remaining applications.

Pass necessary Journal Entries in the books of Vijay Laxmi Ltd. for
the above transactions.

9. T A T TH BH F WRGR 4 W 5: 8% T H o ded o | 1.4.2010
F R R ST 9ER A G 2 80,000 4T W T 1,00,000. IR TSt
W 12% W a9 & & ¥ a9 RO W 15% ¥a &aY & @ ¥ AN o &
fofr feham | 31.3.2011 ® T ET aY % ¢ I 9N GHENH § @
F AT T 14,040 &7 | g% F AT GW FA WY B FAW T 6,000 T
10,000 9 | T TR W WY I Y G qG W F AH-A ffEe
T daR FT | BE F g g9 # e # off O W = fe s | 4

Suresh and Ramesh were partners in a firm sharing profits in the
ratio of 5 : 3. Their fixed capitals on 1.4.2010 were : Suresh ¥ 80,000
and Ramesh ¥ 1,00,000. They agreed to allow interest on capital

@ 12% per annum and to charge on drawings @ 15% per annum. The
firm earned a profit, before all above adjustments, of ¥ 14,040 for the
year ended 31.3.2011. The drawings of Suresh and Ramesh during
the year were ¥ 6,000 and ¥ 10,000 respectively. Showing' your
calculations clearly, prepare Profit and Loss Appropriation Account of
Suresh and Ramesh. The interest on capital will be allowed even if
the firm incurs a loss.
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10. 9, @RIV 3R WA WEER § ST A # 3:2:1F% U ¥ fawfSe &
? | g ¥ wfa # geF T 1,80,000 fEAT g3M § | CRAUT STEHNT TV HAC
2, T4 IGF STEHNT WU A §HF WG & gedEd T 2,52,000 W fFEr M
21 W A wwd o § A #2011 F Igua ¥ Wi 9 @ folg o
€ | TREU % IS W FA & d% Ygd 9% F @ T 1,20,000 33N | @A
F dA@eT qu O F famer & fou wEvEs s ufEfEE Sifse | s
TS B WP FY ¥ QLT | 4

Ram, Laxman and Bharat are partners sharing profits in the
ratio of 3 : 2 : 1. Goodwill is appearing in the books at a value of
¥ 1,80,000. Laxman retires and at the time of his retirement,
goodwill is valued at ¥ 2,52,000. Ram and Bharat decided to share
future profits in the ratio of 2 : 1. The profits for the first year after
Laxman’s retirement amount to ¥ 1,20,000. Give the necessary
Journal Entries to record goodwill and to distribute the profits. Show

your calculations clearly.

11. ¥ f& ¥ 7 1,00,000 F 12% FO % W & foig @1 | 39 T 60,000
& BRI H G aNR ¥ T 95 Wfd WO F W F HT fFA | A&H RO H
9 ged T 100 o1 | 99 T 40,000 F RO &1 weA o ¥ W fRAr W | e
A KO TNEA BT H AN SO e ¥ qdeq @ fEar gem #
B & WEA & AU F H R § NERIE IS Saea #iee | 4

Ajanta Ltd. decided to redeem I 1,00,000, 12% Debentures. It
purchased ¥ 60,000 Debentures from the open market at ¥ 95 per
Debenture. The face value of each Debenture was ¥ 100. The balance
of ¥ 40,000 Debentures were redeemed out of profits. The company
has already made a provision for Debenture Redemption Reserve in
its books.

Pass necessary Journal Entries in the books of the company for the

redemption of Debentures.
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et

12. fefafes aeql & fou Sodew & & e § oeves Usama yfafea

¥ 100 5% & 9,500, 10% FO9E & TET 3% T 100 I & GHAT 39
T ufEafqa = & mar | goar 79 w1 e 5% & s W fEE M |

T 100 Y9 & 440, 10% B9 & WES T 50 T & A¢ 12% FOE
i ufafdd & f& 7@ | A =i @ 10% Afgery w e e
|

Pass necessary Journal Entries for the following transactions in the
books of Fairdeals Ltd :

(1)

(1)

Redeemed 9,500, 10% Debentures of T 100 each by converting the
same into Equity Shares of ¥ 100 each. The Equity Shares were
issued at a discount of 5%.

Converted 440, 10% Debentures of ¥ 100 each into new 12%
Debentures of ¥ 50 each. The new Debentures were issued at a
premium of 10%.

13. 0. T F, TF TH & TEER 4 T4 3 : 2 & g9 § @9 ded 4 | 31.3.2011
F 399 fafs fagor 9 g/ a1 -

31.3.2011 =i 4. &91 ¥, & Rafa faawor

qfyr qfyr

g z gt z
S It 80,000
9.: % 80,000 9 wd 9 80,000
. : Z70,000 1,50,000 | ©I& 60,000
TR 50,000 | STaK 40,000
FHer afagfd ff 80,000 | 5% 20,000
2,80,000 2,80,000

1.4.2011 & %4 1 fqged & T a9 gutE Td <Faei & R e
g3l

(1)

67/2/1
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(i) &g T =i & T 50,000 ¥ & F7 fFa |

(iii) ymfoTa €& FOT % 5,000 & |
(iv) @afd § F8 f o< 81 gam |

(v) wHad &fagfd <@r T 80,000 1 |

% YT & fau mEvgs UsenEn wafear Fifsw |

P and Q were partners in a firm sharing profits in the ratio of 3 : 2.
On 31.3.2011 their Balance Sheet was as follows :

Balance Sheet of P and Q as on 31.3.2011

Amount Amount

Liabilities 4 Assets 4
Capitals : Goodwill 80,000
2z % .30,000 Land and Building| 80,000
Q : T 70,000 1,50,000 | Stock 60,000
Creditors 50,000 | Debtors 40,000
Workmen Compensation Fund 80,000 | Bank 20,000
2,80,000 2,80,000

The firm was dissolved on 1.4.2011 and the Assets and Liabilities were

settled as follows :

(1) Creditors agreed to take over Land & Building at a valuation of

their full claim.

(1)  Stock was taken over by Q at T 50,000 for cash.

(iii) Bad debts proved ¥ 5,000.

(iv) Goodwill was found valueless.

(v)  Workmen compensation claim was ¥ 80,000.

Pass necessary Journal Entries for dissolution of the firm.
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14. 31.3.2011 & ¥« gC a8 & fou REfas @ & 9fd T8 JaE @
ﬁmﬁﬁﬂ!ﬁ%:
31.3.2011 & T9E T ¥ & Wid T SFRAE Gt

_H STHT
| S T
it 3 eURIE] z
T 3 A | 9,700 | 3T (FFa 8 WA F FAH) 12,000
== 23,700 | ftn 5,600
EEN N 12,300 | fosrett (37t = & forw ¥ 400 ®fmfad) | 4,400
el 8,300 | ffeT qar Lerl 900
A REI] 2,900 | THF 41,000
( 900 Trd & 2011 — 12)
BENINCIREER] 15,400 | 9% TR 51 (31.10.2010 1) 4,000
(9% ge7 T 16,000)
39 3 A T 4,400
72,300 72,300
I W q91 FaE WA TEEd ¥ S T8 & W qa) &g | 6

Following is the Receipts and Payments Account of Shivalik Club for the
year ended 31.3.2011 :

Receipts and Payments Account for the year ended 31.3.2011

Dr. Cr.
Amount Amount
Receipts T Payments 4
To Balance b/d 9,700 | By Salaries 12,000
(paid for 8 months only)
To Subscriptions 23,700 | By Rent 5,600
To Entrance Fees 12,300 | By Electricity (includes 4,400
T 400 for next year)
To Donations 8,300 | By Printing and Stationery 900
To Hall Rent 2,900 | By Books 41,000
(X 900 for the year 2011-12) :
To Sale of Investments 15,400 | By 9% Fixed Deposit 4,000
(Book value ¥ 16,000) (on 31.10.2010)
By Balance c/d 4,400
72,300 72,300

Prepare Income and Expenditure Account from the above Receipts and
Payments Account.
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15. TS, T4 9. TH FH 5 RER ¥ 99 2 : 1% Iy H o ded & |
31 7 2011 & 39 feafq oo 9 ¥R 91

31.3.2011 &1 Uad, q91 a3, &1 fefa faawor

qf3r afer

A s FrafEt S
gad #O & faw wEue 250 | TS 18,250
fafaer @ er 59,000 | &FER 15,000
ISt ®@d Tl 32,000
T, ;¥ 27,000 97 Td 9= 30,000
FE. ;T 18,000 45,000 | TE-gI W@ 9,000
1,04,250 1,04,250

1 38 2011 & fr=fafad vaf W S, & "WEER S99 T

(%) i qAT & fAU 2 15,000 $St W @91 @A & U T 6,000 F O

SO, TSI e 9T e, q9r |, e o |

(@) T & foeg &4 & UF <@ & g9Ed 2, 399 fau T 1,500 F @9
FET R |

() fasell =T % T 1,300 & U fod @ i@l @ fRar v, TEe fau anf
Y& S 7

(7) dfey mo & fou e’ & 5% % e YEuH S ? |

() faftm @Rl ¥ wfmfad T 1,200 FF TF ¥ & TIaH T80 S 86, 37
THE ufefad & 2 |

SRNE TEISE % UYEE SiE. # 4N F R W USw. 997 9. & gt @
A fafd STOR U%hE @ Yal UHe & YTAH Fh & 8

T WA, WEER % TS @ a7 w s el e dam S |

HYdT
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AR, TH. G4T TA. UH GH & TEER & @97 5: 3 : 2 & UG § @ sied 4 |
20 T 2011 F WEER FR. F @ & T | 39 fafy w wd @ faf faeor
f7 y&ar ¥ o1

afer LUN
ERRll 4 et z
gst GRIER 41,000
3. : T 12,000 FArR 6,000
. : ¥ 16,000 [SIED 9,000
Td. : % 10,000 38,000 | 3TeR 15,000
A F F= 7,000 | TS 3,000
| IR e 20,000 | g T 10,000
TAER 19,000
84,000 84,000
TR doE & IIUR, WERER & g T OIHE TR freffad % faw
EHSK BT
CONR i -
(i) Sl % qcHsA 991 ST & I HEReT § gas wRen & an/Ee
H W S EEER 2§
(F) TG F T 45,000 T FHER H T 7,000 W AT qedihd f&Har

mEr | _
(@) dfey =T & 9T 10% & 999" ST 91 |

(iii) R N T IYE W F WA I9F [TUEE F RO @A OF o fea
T s A A § HE 2
iR @A, el & Sl @, 3. ¥ TS & T 99 T, 997 U,
% fegfe faamor daR FIf S&fs 3=H &9 $S @ # AU oY euE § @
T HGEE FH TG WA F O o 7 S e @ & oA wEei F
o] @Al H ERRG #fear s | 8
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X and Y were partners sharing profits in the ratio of 2 : 1. Their
Balance Sheet as on 31%° March 2011 was as follows :

Balance Sheet of X and Y as on 31.3.2011

Amount Amount

Liabilities 4 Assets 3
Provision for bad debts 250 | Cash 18,250
Sundry Creditors 59,000 | Debtors 15,000
Capital Accounts : Stock 32,000
X: T 27,000 Land and Building 30,000
Y : T 18,000 45,000 | Profit and Loss Account 9,000
1,04,250 1,04,250

Z was admitted to the partnership with effect from 15Y April 2011 on
the following terms :

(a) He will bring ¥ 15,000 as his capital for one-fourth share and
pay ¥ 6,000 for goodwill, half of which was to be withdrawn by X
and Y. '

(b) There is likely to be a claim against the firm for damages, a
provision of ¥ 1,500 was to be made for the same.

(¢) A bill for ¥ 1,300 for electric charges has been omitted, now it is
to be provided for.

(d) A provision of 5% on Debtors was to be created for doubtful
debts.

(e) Included in Sundry Creditors was an item of T 1,200 which was
not to be paid and therefore had to be written back.

After making the above adjustments, the capitals accounts of X and Y
were to be adjusted on the basis of Z’s capital. Actual cash was to be
brought in or to be paid off as the case may be.

Prepare Revaluation Account, Capital Accounts of the partners and
the Balance Sheet of the new firm.

OR
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R, M and L. were partners in a firm sharing profits in the ratio of
5: 3 : 2. Partner R died on 207 February 2011. The Balance Sheet
of the firm on that date was as follows :

Amount Amount

Liabilities 4 Assets 4
Capitals : Machinery 41,000
R: T 12,000 Furniture 6,000
M : T 16,000 Stock 9,000
L: ¥ 10,000 38,000 | Debtors 15,000
Loan from R 7,000 | Cash 3,000
General Reserve 20,000 | Profit and Loss Account 10,000

Creditors 19,000

84,000 84,000

According to the Partnership Deed, on the death of a partner, the
executor of the deceased partner will be entitled to :

(1) Balance in Capital Account;

(ii) His share in profit/loss on revaluation of assets and reassessment

of liabilities which were as follows :

(a) Machinery is revalued at T 45,000 and furniture at ¥ 7,000.
(b) A provision of 10% was to be created for doubtful debts.

(iii) The net amount payable to R was transferred to his executor loan

account which was to be paid later.

Prepare Revaluation Account, Partners’ Capital Accounts, R’s
Executor’s A/c and the Balance Sheet of L and M who decided to
continue the business keeping their capital balances in their new
profit sharing ratio. Any surplus or deficit was to be transferred to
current accounts of the partners.
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16. 7= fa. 3 T 10 Y% & 30,000 THT 39 F T 30 ¥ Fw & AfEm W i@
FH F fou e smfAd e | ofr &1 gram = @R 9 w5 9
e W T 10 w9 34w (% 8 Miffaw wfewd)
FEed W T 12 9fa 331 (T 9 Wifsw gfeq)
¥oH UE A< =T W — I

27,000 3T & U seed W gw | @t A=A Wi el T oqar o ww &
fgarg femr & 3,000 39 & Brew, o @A U q9r gy wd FfAw g
e & s T fEr, 9@ fReR fSeA s 2,000 3R W owgwW wd aHf<M
A B ST ARl fear | e qgr fReR & ofe @ sed w faan | s
fr T 3w § ¥ 4,000 39F, 590 fReR & weft siw wiwfaa 4, & T 17 wfa
3 A gl wem g fifea s fear T

IR A & U e fA. F e § smaves Isemen wfEfEE Sk |

HAIA

feem fa. 3 10% & a8 W frife =3 F fau T 10 585 F 70,000 3iFi
& fou smeeq smfEa few | o &1 e e TeR § & a1

e W T 4 3fq 3

HEed W T 3 7fd 377

99 T f<H IEA W — I

80,000 37Ff & AU ameeT W gU | 5,000 3 & fOU e W | e fea

T A WY HESH @ IFUGF SR W I F @A F A T | SEA

W o Al oY &1 guEee sfeed W o U H & fomm W | S, fem
1,500 3 & faw sacT ffar @1, 9 H@ed U & FO= T8 fFAr | e
T 9N, 39S 3 & el & faa T | 3§% TvE ¥9W UF S g
ufer /Al T | A W eEfed 700 SfFl W wAw we i AeAn U AW AR

T | 39F ofFl @ off §ew & fomn wy | S fRT T 1,500 SR OH X 13 ufd
I # wof wew g fifae s fear mar | g fffam frm o oofel § S &
ot ofy wimfaa 2 |

IR el & fau R fa. & Tal § Evds Usmer SEed S | 8
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Gupta Ltd. invited applications for issuing 30,000 Equity Shares of ¥ 10
each at a premium of ¥ 30 per share. The amount was payable as
follows :

On Application T 10 per share (including ¥ 8 premium)
On Allotment ¥ 12 per share (including ¥ 9 premium)
On First and Final call — Balance

Applications for 27,000 shares were received. All the calls were made
and were duly received except on 3,000 shares held by Shiva who
failed to pay the Allotment and First and Final call money and on
2,000 shares of Girdhar who did not pay the First and Final call.
Shares of Shiva and Girdhar were forfeited. Out of the forfeited
shares, 4,000 shares were re-issued, including all the shares of
Girdhar at T 17 per share fully paid up.

Pass necessary Journal Entries in the books of Gupta Ltd. for the
above transactions.

OR

Firdos Ltd. invited applications for issuing 70,000 shares of ¥ 10 each
at a discount of 10%. The amount was payable as follows :

On Application T 4 per share
On Allotment ¥ 3 per share
On First and Final call — Balance

Applications for 80,000 shares were received. Applications for 5,000
shares were rejected and the shares were allotted on pro-rata basis to
the remaining applicants. Excess money received with applications
was utilized towards sums due on allotment. Jonney, who had applied
for 1,500 shares, failed to pay the Allotment money. His shares were
forfeited immediately after allotment. Afterwards the First and Final
call was made. First and Final call was not received on 700 shares
held by Rommy. Her shares were also forfeited. 1,500 forfeited
shares were re-issued at ¥ 13 per share fully paid up. The re-issued
shares included all the shares of Jonney.

Pass the necessary Journal Entries in the books of Firdos Ltd. for the
above transactions.
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17.

18.

19.

20.

21.

RIRIREC ]

(forefra foraroit @t forgraon)

PART B
(Financial Statements Analysis)

T’ & fau foxig faawn & favomor & mew & 3w FieY | 1

State the significance of analysis of financial statements to the
‘creditors’.

{ohe JaE faeor 1 99R 91 2, Sooig Sy | 1

State why a cash flow statement is prepared.

e GeIgH H F4T WA A 2 2 1
What is meant by Cash Equivalents ?

Ste fo. & =) UM 35 : 1 A4 Relal IUE 15 : 1% | IR =% W
yfafafae & 99 @l =g gufrEl o gufE 9 T 60,000 FHE €, a9
gl qer @] SFarsl & AT Ffey | 3

Z Ltd. has a current ratio of 3-5 : 1 and quick ratio of 1-5 : 1. If the
excess of current assets over quick assets as represented by stock is
% 60,000, calculate current assets and current liabilities.

fefafad ge1 § frefafaa § 9§ &= gt Ul &l o S
(F) FU-HEAT UG,

(@) wEEiE gS HEd S

m  E W A

T

A 3 Gt % 5,50,000; HFEE HEE % 50,000; S9-84 W1 L q9 AN
T % W T 1,50,000; 9% O T 2,00,000; FHER T 1,00,000; 9 79T T

% 6,50,000; 3T T 1,50,000; STeR T 1,45,000; T%E T 55,000 T IREWE

= % 50,000.

31.3.2011 F ¥9< §C a9 & AU f&BRa T 15,00,000 1 T4 50% FX F TAH

fear a1 | 4
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From the following information, calculate any #fwo of the following
ratios :

(a)  Debt-Equity Ratio;
(b)  Working Capital Turnover Ratio;
(¢)  Return on Investment.

Information :

Equity Share Capital ¥ 5,50,000; General Reserve ¥ 50,000; Profit
and Loss Account after Tax and Interest ¥ 1,50,000; 9% Debentures
T 2,00,000; Creditors ¥ 1,00,000; Land and Building T 6,50,000;
Equipments ¥ 1,50,000; Debtors ¥ 1,45,000; Cash ¥ 55,000 and
Preliminary Expenses ¥ 50,000.

Sales for the year ended 31.3.2011 was ¥ 15,00,000 and Tax paid
50%.

22, fr=fafed g faewor 9 31.3.2011 %I T6< gC &9 & fau sva fa. &1 & 9w

IFR & A oo d9R FST - 4
31.3.2011 & 99w §U 98 & forw s for, &1 emg faawor
feamoT afer
z
_\?:?_Ti_:
[EER] 30,00,000
A A 20,000
349 A= 30,20,000
T
a9 T A F A 20,50,000
EEISE ] 40,000 :
3 =4 20,90,000
& 2,25,000
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From the following Income Statement, prepare a Common Size Income
Statement of Jagat Ltd. for the year ended 31.3.2011 :

Income Statement of Jagat Ltd. for the year ended 31.3.2011

Particulars Amount
4
Income :
Sales 30,00,000
Other Incomes 20,000
Total Income 30,20,000
Expenses :
Cost of goods sold 20,50,000
Operating Expenses 40,000
Total Expenses 20,90,000
Tax 2,25,000

23. 31.3.2010 991 31.3.2011 H 3R, fa. & fafafaa Rafg foawli @ I 19
faawor d9r FifST

31.3.2010 @em 31.3.2011 &t &.91%, for. & feufa faaor

. 31.3.2010 | 31.3.2011 . |81.3.2010 | 31.3.2011
<FdTd F F quafar F F
FHAT 39 TS | 4,00,000 | 6,00,000 | THEE 50,000 | 45,000
ATI-BIH WA | 1,00,000 | 2,00,000 | T 6,00,000 | 6,00,000
d FOT 2,00,000 | 1,00,000 | @@ — | 75,000
EESlIEERSIRIE 80,000 | 60,000 | &R 2,00,000 | 2,55,000
EZSICRIC 40,000 | 70,000 | ©& 10,000 | 15,000
SRR 60,000 | 45,000 | U% 20,000 | 85,000
8,80,000 | 10,75,000. 8,80,000 |10,75,000
fIRE T
g% H T 75,000 % AT W HF fRA | @A F fHRE W T 5,000 FOAA T
9o T T 12,000 F IR TET T4 | 6
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From the following Balance Sheets of J.R. Ltd. as on 31.3.2010 and
31.3.2011, prepare a Cash Flow Statement : :

Balance Sheets of J.R. Ltd. as on 31.3.2010 and 31.3.2011

31.3.2010 | 31.3.2011 31.3.2010 | 31.3.2011
Liabilities 4 3 Assets 4 3
Equity Share Capital 4,00,000 | 6,00,000 | Patents 50,000 45,000
Profit and Loss Account | 1,00,000 | 2,00,000 | Building 6,00,000 | 6,00,000
Bank Loan 2,00,000 | 1,00,000 | Investments — 75,000
Proposed Dividend 80,000 60,000 | Debtors 2,00,000 | 2,55,000
Provision for tax 40,000 70,000 | Stock 10,000 15,000
Creditors 60,000 45,000 | Cash 20,000 85,000

8,80,000 | 10,75,000 8,80,000 | 10,75,000

Additional Information :

During the year Building costing ¥ 75,000 was purchased. Loss on
Sale of Building was ¥ 5,000. Depreciation charged on Building was

< 12,000.

T T

(oo @)

PART C
(Computerised Accounting)

17. FPelga A@iHd oF & ueh 941 § ?

What are the components of computerised accounting system ?

18. fodl @d & HEfed FIT & ‘U9a’ § ‘OEe 3% T fHge 94

[ et

e Brar @ 2 1

What is represented by ‘fifth’ to ‘seventh’ digit of the code allotted to

an account ?

19. ‘SOHEFREOT & ¥4 3299 8 2

What is the purpose of ‘normalisation’ 7

67/2/1
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20. Rl Frgelen o@eT HHdE & GO et ® gHenEy | 3
Explain the security features of a computerised accounting software.

21. &2 < W= 3G ©LE.UA.TE. Hieddl & A9 FaBC | SIELu. T & fEel
= @ @ off Juie SIS | 4

Give the name of two commonly available DBMS softwares. Also
explain three advantages of DBMS.

22, UHUH-UHH ¥ IET 99 H N0 F & [0 FH & G0N # fArEy | 4
Write the steps of a query to compute transport allowance in
MS-Access.

23. (&%) frafafes g9 ¥ w6 o & AW @ WA e & O wed W wEe
MU HIST | T 1,00,000 F § g4 a6 10% & T H, T 1,00,000 F
sy & TR W 20% A R F | (YA 909 €2 H FEfm)

(@) A & 39 foxdig & (FE) & AW a9 g0 G9eEY S UE fafEn &
FAAH qod % YT H GHHAC 2 | 6

(a) From the following information, calculate the formula on Excel
for computing the amount of Dearness Allowance. When basic pay
is up to ¥ 1,00,000, @ 10%; for more than T 1,00,000 @ 20% (Basic

pay is projected in C2).

(b) Name and explain the financial function of Excel which explains
returns of the present value of an investment.

INDIA

67/2/1 19 TODAY 4in

EDUGATION





